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SH2E3A201R%E
X
SW-FEFTEREREERES
B 4 BEAABEHRER B % BEALEEREHR BEAABEHRER B % BEALEEREHR
] ES it E % 5t E] % 5t E £ it
=¥ LN 0 0 0 | R=xK#+ 607 656 1,263
AFARNE 0 0 0 | K=45)I 2,965| 3,084 6,049
AFTRE 0 0 0 | K=FHEFA 0 0 0
= HIIET 1,395 1411 2,806 |[FARKE1TH 743 812 1,555
=#5TH 1,451] 1,436 2887 |[FKE2TH 299 295 594
=#B6TH 3,875| 3.836 7711 [FAXE3TH 893 921 1,814
RFER 7.207| 7.458| 14,665 |FlEAXE4TH 656 659 1,315
RFIEEEAIFT 1,152] 1,236 2,388 | KFAEIEXR 0 0 0
AXFER 1,552| 1,618 3,170 [ K= X EmREH 0 0 0
XFIER 261 300 561
AFiEFEfELTt 187 186 373
REFHET 793 816 1,609
AFEK 1,162 1,208 2,370
RFFAF 494 532 1,026
REHNHFAREB 2,253 2,231 4,484
REFmEFHH 281 279 560
RFEHBLRK 109 109 218
K=F L AR 0 0 0
REFFEMES 1,852 1,914 3,766
XETRE 1,370 1,421 2,791
AFZYE 877 916 1,793
AFERAFH 441 453 894
RKFEXR 15 17 32
AFHER B AT FH 5 6 11
BAR1TH 39 39 78
BAET2TH 43 39 82
BFEAR1TH 28 29 57
FEAR2TH 49 51 100
FEARI3TH 82 64 146
IS4 1,430 1,538 2,968
RXFER 490 483 973
K= &H] 232 230 462
AFHERBAR 1,116] 1,148 2,264
REFHEFH® 919 944 1,863
KX=FERHA 439 438 877
A = 5 ES i
A A
37,762 38,813 76,575
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SH2E3A201R%E
X
SWV-FEFTIEREREERE S
B 4 BEEAABEHRER BEALEEREHR BEAABEHRER B % BEALEEREHR

] % it E % 5t E] % 5t E £ it
AFXE 0 0 0
RFKRBK 0 0 0
AkET4TH 2477| 2565 5,042
BEABE1TH 1,884| 1,882 3,766
BABEI2TH 2292| 2370 4,662
AFASB 0 0 0
HERI1TH 4715] 4,046 8,761
B¥EI2TH 6,345| 6,760 13,105
HERISTH 2,356 2379 4,735
¥i5|BT2TH 2074 2179 4,253
XENEE 0 0 0
=RE1TH 4159| 4,384 8,543
=RE2TH 2719| 2564 5,283
=REISTH 2.857| 2889 5,746
=RET4TH 2,637| 2610 5,247
EHEE1TH 2.874| 2,688 5,562
EHEFET2T B 1,745 1,695 3,440
Al i BT 2439|2520 4,959
ZEERHE] 3,904| 3,895 7,799
WEET1T B 2,084| 2159 4,243
tEET2T B 495 728 1,223
AT 1,509 1,719 3,228
XFEL S 0 0 0
+ BT 219 231 450
T EET1TH 2.469| 2,609 5,078
T EE#T2TH 2.246| 2,305 4,551
5 T 1,631] 1,665 3,296
RFFAE 0 0 0
A IERET 4,520| 4,770 9,290
WE1TH 0 0 0
RiB1TH 0 0 0
RiZB2TH 0 0 0
RiB3TH 0 0 0

A £ £ L8 Hi

= A 60,650 61,612 122,262
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RER
SW-EFTAEREXETEEZER
B 4 BEEAABEHRER B % BEALEEHREHR B 4 BEAABEHRER B % BEALEEREHR
] % it E % 5t E] % 5t E £ it
XE6TH 178 185 363 | FHT1TH 140 140 280
XE7TH 185 207 392 | FHT2TH 117 107 224
JLRET1TH 1,291 1,362 2,653 |FHI3TH 989 1,094 2,083
JLiR@T2TH 1,275 1,251 2526 |HET1TH 638 627 1,265
EHET1TH 503 500 1,003 |FHHET2TH 696 697 1,393
EHEAT2 T B 548 561 1,109 (4 KET1TH 530 593 1,123
EHEAISTH 517 549 1,066 [#% KET2TH 619 576 1,195
EHEAT4 T B 523 589 1,112 [+ KEI3TH 528 564 1,092
ERET1TH 464 502 966 |t KHET4T B 2510|2472 4,982
ERET2T B 583 597 1,180 |$RHT 2 1 3
KBE1TH 1,867 1,939 3,806 | KpkET1TH 1,737| 1,749 3,486
XBEI2T H 2,052| 2,098 4,150 | KpkET2T B 1,233| 1,250 2,483
BONET1TH 1,910[ 2,000 3910 | KpkET3TH 1,914] 1,926 3,840
BONET2T B 726 769 1,495 {51871 T H 2,728| 2,770 5,498
BONEISTH 887 935 1,822 [=#1TH 3,709] 3879 7,588
FHERT1 T B 551 607 1,158 |=#82TH 2508 2426 4,934
FHERT2T B 1,170 1,374 2544 |[=¥&3TH 716 708 1,424
E2f1TH 809 855 1,664 |[=#4TH 2202|2274 4,476
E2f2TH 551 591 1,142 | E /AT 4190 4,196 8,386
E2M/3TH 268 291 559 | X E{HET1TH 0 0 0
E2/4TH 3 3 6 | KE{HET2T B 0 0 0
TFE1TH 967 907 1,874 | KEHEISTH 0 0 0
TFH2TH 302 307 609
+FHISTH 609 583 1,192
EE1TH 7 70 141
EE2TH 162 146 308
EEI3TH 355 323 678
EET4TH 435 337 772
EEI5TH 308 210 518
XPFET1TH 11 11 22
XPFET2TH 21 21 42
KBTS T B 565 614 1,179
HET1TH 31 26 57
HET2TH 37 29 66
{HEISTH 197 155 352
A = C ES i
A

H 48,638 49,553 98,191
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SW-FEFMRIZREEECTEEZER
B 4 BEEAABEHRER B % BEALEEREHR B 4 BEAABEHRER B % BEALEEREHR
] ES it E % 5t ] % 5t E £ it
KFART1ITH 3557| 3,642 7,199 [MIAE1TH 1 3 4 |EM2TH 865 849 1,714
KFARI2TH 3.202| 3,342 6,544 |JIEE2TH 1 0 1 |[HFESTH 1,114 1,056 2,170
RFH 2 1 3 | K=FmILEH 4 2 6
WET2TH 1 0 1| KFRWL 2 1 3
I3 T 3,425 3509 6,934 | KFRF 298 292 590
AFE 0 0 0 | KFEXH 3,707] 3,893 7,600
=11 2014 2111 4,125 | KFiE;E 4174 4312 8,486
ERT1TH 196 207 403 | KFREH 1,774| 1,883 3,657
ERfT2TH 171 174 345 | K= & P98Il 1,709 1,671 3,380
BAXE1TH 1,300 1,267 2567 | KFHEETF 1,339| 1,506 2,845
BHKRXE2TH 1,154] 1,184 2338 |HET1TH 77 87 164
BHAXE3TH 976| 1,160 2,136 |HET2TH 187 181 368
HKXE4TH 2252 2283 4535 |HET3TH 52 50 102
BHAXE5TH 1,308] 1,301 2,609 | KFHIE 1,237| 1,362 2,599
HAXE6TH 1,572 1,541 3,113 | KFiZRE 301 289 590
BHKXKE7TH 2,062| 2015 4077 IRE1TH 611 576 1,187
REFHH 791 788 1,579 [i#{E2TH 426 405 831
A#1TH 169 172 341 |i#{E3TH 631 615 1,246
A#i2TH 63 59 122 |iFE4TH 0 0 0
FHIER 8 6 14 |R{E5TH 101 86 187
X=FEWL 219 245 464 |BFH1TH 1,493| 1,626 3,119
AFESD 283 260 543 |EH2TH 265 368 633
Z28/1TH 107 101 208 |EH3TH 658 667 1,325
282TH 71 61 132 |EH4TH 632 630 1,262
$AX3TH 292 317 609 | KT~ 576 556 1,132
RFEHH 1,694| 1,858 3,552 | F14 UE BT 1,145 1,050 2,195
AFEAR 127 121 248 | KT EL BB 61 72 133
KXFEE 2,728| 2819 5547 |BE~BIE1TH 43 54 97
REFEHEH 2,925 3,039 5964 |E~&IE2TH 3 4 7
AFEmPH 3,843| 3,987 7,830 B4 AE3TH 124 137 261
X=Fd)i| 3,243 3391 6,634 |E~&/IEATH 39 33 72
RFEHLOFE 309 336 645 | K= /IVEE 2499 2597 5,096
AFAEILFFHEA 18 16 34 |EIET1TH 0 0 0
KFHEIFHH 37 26 63 |EIRT2T B 11 41 52
KEMAEFHA 1 2 3|EMITH 617 620 1,237
A = 5 4 &t

H H 66,897 68,915 135,812
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SWEFETHPRREXEEERER

B 4 BEEAABEHRER B % BEALEEREHR B 4 BEAABEHRER B % BEALEEREHR
] ES it E % 5t ] % 5t E £ it
XELFES 0 0 0[/\NTF4TH 243 268 511
LEE1TH 1,202 1,383 2585 |/\EFF5TH 741 797 1,538
L&E2TH 1,510] 1,648 3,158 | FI#1TH 703 661 1,364
L#E3TH 925 944 1,869 | FIE2TH 760 765 1,525
L#E4TH 324 356 680 | LIZ3TH 602 581 1,183
L#*E5TH 790 771 1,561 | FIE4TH 397 411 808
L#*&6TH 1,054] 1,036 2,090 |MF3E1 T H 26 29 55
L&EE7TH 1,064] 1,176 2,240 |M3G2 T H 251 265 516
L#*E&8TH 613 680 1,293 |MRFE3I T H 95 117 212
L#E0TH 452 485 937 |MMFR4T B 443 447 890
KFT%SE 1,443] 1,620 3,063 |MPAE5T B 617 612 1,229
T%&2TH 707 791 1,498 |HB556 T B 65 65 130
T%&3TH 761 870 1,631 |HBI5R7 T B 233 232 465
T%&4TH 652 643 1,295 |#FE1TH 588 615 1,203
T%&5TH 543 569 1,112 |#F2TH 421 409 830
T%&6TH 805 819 1,624 | RETFE1T B 574 527 1,101
T%&7TH 600 597 1,197 | RETFE2T B 384 440 824
$BR/1TH 69 79 148 | AETFE3T H 745 778 1,523
$#582TH 519 535 1,054 | ABTFE4 T H 560 557 1,117
$BR3TH 578 550 1,128 |ABTFEST B 530 570 1,100
$BR4TH 1,220 1,282 2502 |AETFEGT B 119 141 260
#HA5TH 446 425 871 |KETEHE1TH 445 488 933
#HA6TH 602 580 1,182 |ABTHR2TH 494 505 999
#/A7TH 1,187] 1,242 2429 |RAEJEHE3TH 490 458 948
#HA8TH 432 435 867 |RETHATH 743 781 1,524
#HA/9TH 128 94 222 |KETHE5TH 681 702 1,383
XE1TH 940 923 1,863 |ABTEHE6TH 451 441 892
XF2TH 384 363 747 |ABTE7TH 1,338| 1,288 2,626
XE3TH 491 512 1,003 |FHE1TH 819 817 1,636
XF4TH 675 701 1,376 [FiHE2TH 552 603 1,155
XE5TH 884 929 1,813 [FIHEITH 645 645 1,290
XF6TH 573 603 1,176 [FiHE4TH 1,007| 1,055 2,062
INEF1TH 79 81 160 |FHESTH 963 977 1,940
ANEF2TH 383 415 798 |FERID 22 31 53
IANEF3TH 823 789 1,612
A = C ES i
A

H 41,605 43,004 84,609
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w TH2E3RA2ARA
X

SWV-EFTRREREERES

B 4 BEEAABEHRER B % BEALEEREHR B 4 BEAABEHRER B % BEALEEREHR

] ES it E % 5t E] % 5t E £ it

REFFaYE 0 0 0 BT&1TH 411 383 794 | KFHEFIRAR 0 0
FEE1TH 328 307 635 |ET&2TH 362 393 755 | K= EF0EED 0 0
FafE2TH 953 887 1,840 |BTA3TH 669 590 1,259
FEIE3TH 848 834 1,682 |BT&84TH 367 304 671
T4 TE 1257 1285 2542 | K¥FERE 0 0 0
FEESTH 464 481 945 |FALiE1T B 514 527 1,041
FaE6 TH 892 817 1,709 |FE2TH 1044 1,076 2,120
FiE7TH 1,033] 1,017 2,050 | KFEHE 0 0 0
FEES T H 654 646 1,300 | E1TH 851 796 1,647
FEIEOTH 610 612 1,222 |hE2TH 377 337 714
FEE10TH 305 311 616 | E3TH 165 158 323
Al 0 0 0|FE4TH 329 295 624
X¥HEE 0 0 0 | K=F%H 0 0 0
HE1TH 659 674 1,333 |RF1TH 573 516 1,089
HE2TH 576 552 1,128 |%F12TH 776 750 1,526
HE3TH 926 889 1,815 |F03TH 715 701 1,416
HE4TH 990 957 1,947 |RF04TH 513 469 982
HE5TH 585 535 1,120 |%F05TH 553 534 1,087
HE6TH 1,239 1,418 2,657 |6 TH 543 461 1,004
HE7TH 77 92 169 | KF AR 0 0 0
HESTH 243 195 438 IULARITH 359 353 712
HE9TH 220 179 399 |ILA{R2TH 501 488 989
HE10TH 666 657 1,323 | KF ERAK 1,936 1,872 3,808
REFHE 0 0 0 | KFTRAR 2,014 1,623 3,637
#FE1TH 484 467 951 | KFRKARER 2503 2723 5,226
#FEH2TH 208 197 405 | K=F#H 2,188 2,089 4277
#FBSTH 11 11 22 | KFEH# 2,984 2996 5,980
#FEHATH 0 0 0 | RFHR 172 172 344
AFES 8 3 11 [ KFE 274 254 528
EB1TH 283 270 553 | KFH BT 774 806 1,580
EiZ2TH 1,261] 1,237 2,498 | KFiZAX 685 685 1,370
EiF3TH 432 387 819 | K=HEFN 0 0 0
EiF4TH 0 0 0 [#%ME1TH 317 333 650
EiF5TH 0 0 0 [#%H2TH 545 551 1,096
AFHA 2 1 3 |[#%M@3TH 156 147 303
A = 5 ES i
= A 40,384 39,300 79,684
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SEFIX
SW-FTHNIREXETERZE R
B 4 BEEAABEHRER B % BEALEEREHR B 4 BEAABEHRER B % BEALEEREHR
] ES it E % 5t ] % 5t E £ it
EE1TH 639 672 1,311 |#t483TH 690 739 1,429 g2 T H 537 561 1,098
FH2TH 626 663 1,289 |#t584TH 1,008 1,334 2,342 |Rith3T B 777 781 1,558
FH3TH 474 494 968 | EKIF1TH 1,428 1,552 2980 |[AKX1TH 1,581 1,815 3,396
FH4TH 983| 1,078 2,061 | ERIF2TH 937] 1,069 2,006 |AKX2TH 1,165 1,267 2,432
FH5TH 579 585 1,164 | ERIZE3TH 721 686 1,407 |[AAX3TH 1,124 1,173 2,297
FH6TH 767 782 1,549 | EXRIZA4TH 678 687 1,365 |[AX4TH 697 758 1,455
EE7TH 1018|1066 2084 | FRIF5TH 533 538 1,071 |[AAXS5TH 944 996 1,940
BT 1,118 1,163 2281 | L RIF6TH 1022| 1,061 2,083 |STET1 T H 1,048 1,116 2,164
=2M1TH 202 260 462 | FRIZ7TH 466 523 989 |STHT2TH 1,399] 1,559 2,958
=22TH 291 357 648 | EKIZST B 240 245 485 |STHTSTH 783 830 1,613
=M3TH 526 547 1,073 | KIFE1TH 549 565 1,114 | XKE1TH 1,232 1,308 2,540
=24TH 659 725 1,384 | KIF2TH 692 710 1,402 | KE2TH 753 833 1,586
HE e 757 802 1,559 | KIF3TH 283 282 565 | KE3TH 586 629 1,215
HET1TH 554 669 1,223 | KIG4TH 727 763 1,490 | KF = IF 5 7 12
HET2TH 646 731 1,377 | RIG5TH 865 948 1,813 #4881 TH 487 512 999
{HEISTH 686 738 1,424 |[SER1TH 749 784 1,533 |#48A2 T B 690 732 1,422
{HET4TH 724 796 1,520 [$EX2TH 486 487 973 |2 LIfT 793 869 1,662
B HET 1,382] 1,546 2928 |$EK3TH 799 804 1,603 |EF0{HET1 T B 0 0 0
EE1TH 1,163] 1,264 2427 |$BR4ATH 608 629 1,237 |;EFO0MET2 T B 0 0 0
EE2TH 928| 1002 1,930 [EXSTH 490 519 1,009 |EF0{HEISTH 0 0 0
EHITH 1,362] 1,482 2,844 |$EK6TH 882 924 1,806 |;EF0{HET4 T B 0 0 0
EE4TH 655 728 1,383 |fER7TH 995 1,108 2,103
EES5TH 847 946 1,793 |#~ 51T H 677 725 1,402
EE6TH 484 487 971 |#~ 52T H 816 847 1,663
EEITH 560 610 1,170 | ¥~ IG3TH 541 634 1,175
EHESTH 427 491 918 |#A~IB4ATH 686 775 1,461
EHEOTH 1,345 1,370 2,715 |~ 5T H 792 845 1,637
10T H 1,242 1,356 2,598 [BMIZ1TH 751 764 1,515
JLiEF1TH 1,198] 1,395 2,593 [E9iZ2T H 122 110 232
dLiEFn2 T B 1008| 1,070 2078 |[KIE1TH 289 328 617
dLiEF3T B 1,068 1,215 2283 [ KIE2TH 179 216 395
JLi#EF4TH 172 200 372 | KIE3TH 9 7 16
dLiEF5T B 1,528| 1,623 3151 [KIR4TH 13 0 13
&ty B81TH 783 843 1,626 | KIE5TH 0 0 0
sy 82TH 1,088] 1,077 2,165 |Rii#h1 T B 1017/ 1,073 2,090
A = g8 z it
= A 64,830 69,860 134,690
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SW-FEFTREREXREERZES
B 4 BEEAABEHRER B % BEALEEREHR B 4 BEAABEHRER B % BEALEEREHR
] ES it E % 5t ] % 5t E £ it
ARIG1TH 1,073] 1,113 2,186 |AIFF4 T B 285 290 575 |NA5TH 1,092 1,058 2,150
A&BE2TH 843 802 1,645 |RIFTS T B 572 595 1,167 |NA6TH 1,060 952 2,012
EEF1TH 1,253 1,255 2,508 |AIFF6 T B 732 690 1,422 |[RB7TH 813 764 1,577
EEF2 T B 1,554| 1,524 3078 |AIFF7 T B 1,419 1,442 2,861 |P9R1TH 624 648 1,272
EEFS T H 3,018| 3,130 6,148 [fRE1TH 884 884 1,768 |TMA2TH 581 537 1,118
EETI4T B 100 80 180 |#RF2TH 703 695 1,398 [MA3TH 611 563 1,174
AFARE 3,709| 3.858 7,567 |#RE3TH 976 968 1,944 [FAXREI1TH 456 514 970
AHAE2TH 886 943 1,829 |#BF4TH 559 542 1,101 |FAARHET2T B 914 951 1,865
AHAE4L4TH 749 808 1,557 |#BF5TH 1,385| 1,503 2,888 |#BH1TH 449 479 928
ABEESTH 1,223 1,208 2431 |iB%1TH 3,089| 3214 6,303 |#BH2T H 196 186 382
AFXAO 6,866 7,179 14,045 |;:B%2TH 714 714 1,428
XFEMIEF 1,078 1,058 2,136 |;A%3TH 64 32 96
AXFLETBE 948 996 1,944 |B81TH 238 218 456
Big1TH 472 349 821 |B82TH 271 244 515
Big2TH 439 434 873 |BBF®1TH 499 517 1,016
BiE&3TH 1,260 1,312 2572 |EEFHR2TH 455 467 922
B4 TH 1,753| 1,820 3573 |[EEFHR3TH 795 756 1,551
B85 TH 1,053| 1,056 2,109 |EEFHR4TH 1040 994 2,034
Big6TH 1,117] 1,080 2,197 |EEFHR5TH 1,035 1009 2,044
$1TH 1,185 1,151 2,336 |[EEFHR6TH 929 900 1,829
$2TH 942 932 1874 |[BEFHR7TH 1000 977 1,977
33TH 780 797 1,577 | KRFiE4 0 0 0
$4TH 1,009 933 1,942 [MAKR1TH 758 700 1,458
35TH 727 734 1,461 [¥AKR2TH 524 500 1,024
16TH 277 290 567 |¥AAR3TH 611 579 1,190
$7TE 748 715 1,463 [¥AKRATH 535 496 1,031
18TH 1,079] 1,136 2215 [#A1TH 690 636 1,326
XE1TH 966 955 1,921 |#IAR2TH 739 707 1,446
XE2TH 1,307] 1,285 2,592 [HAIAR3TH 670 655 1,325
XE3TH 1,698] 1,568 3,266 [FHAR4TH 668 583 1,251
XE4TH 1,189] 1,175 2,364 [HHARSTH 776 745 1,521
XE5TH 1,172] 1,137 2,309 [AB1TH 276 263 539
AER1TH 570 590 1,160 |A&2TH 410 380 790
RE2TH 1,087| 1,175 2262 |[NA3TH 788 686 1,474
AR3TH 1,130] 1,183 2313 [AB4TH 831 779 1,610
A = g8 z it
= A 77,976 77,773 155,749
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B 4 BEEAABEHRER B % BEALEEREHR BEAABEHRER B % BEALEEREHR
] ES it E % 5t ] % 5t E £ it

ABEZEITH 1,259 1,307 2,566 | KFRE 11 10 21
AHEEITH 744 740 1,484 LK1 TH 549 430 979
AFXAO 78 87 165 | KF =% 0 0 0
BEW1TH 1,407| 1,495 2902 | KF#TE 0 0 0
FRW2TH 1,472 1,535 3,007 | KFEXE 0 0 0
FRW3TH 685 790 1,475 |[RAF1TH 111 124 235
FIL4TH 1,514] 1,684 3,198 | KF2TH 665 678 1,343
AKFEHE 5872 6,173| 12,045 [(RAM3TH 640 589 1,229
RKFREA 2542| 2,595 5137 |Bi51TH 548 624 1,172
RFXREK 991 1,063 2054 |Ei52TH 634 622 1,256
XETFWLOFHMA 129 140 269 |¥AK1TH 491 527 1,018
ARFERFHA 0 0 0 [¥WAKR2TH 460 486 946
KE=ZE 6,617| 7.027| 13644 |[MARSTH 731 776 1,507
EHLT1TH 412 496 908 |HHEFI1TH 502 561 1,063
EH+T2TH 453 497 950 |H;HEFI2T H 2,144 2,029 4173
EHLT3TH 269 317 586 |BHFISTH 1,132 1,192 2,324
EHT4TH 784 787 1,571 |3Ri#EF4TH 853 859 1,712
KFRIF 468 377 845 |H#HIIST B 696 748 1,444
REEErfEit 306 286 592 |HHII6 T H 627 627 1,254
REFHHHE 234 208 442 |3R#EFM7TH 1,103] 1,215 2,318
XF LEHE 339 259 598 |H#HFI8 T B 596 634 1,230
AT = 42 48 90 |BUHFIOTH 505 538 1,043
XERL 242 217 459 |XE1TH 122 130 252
RFFIL 109 103 212 |XE2TH 52 53 105
RFKXM 3,399| 3425 6824 |XE3TH 388 366 754
RFILE 40 45 85 |XE4TH 1,445 1,409 2,854
AFHEE 381 365 746 |XE5TH 627 650 1,277
AFTEHHE 373 372 745 |XE6TH 313 286 599
RFRFEH 92 79 171 | KEAR2TH 409 402 811
EA1TH 404 393 797 | KEIA3TH 479 513 992
BEA2TH 642 644 1,286

ZE1TH 419 446 865

ZE2TH 385 392 777

ZIR3TH 710 731 1,441

KFEZ=H 1 0 1

A~ = S it
A A
50,647 52,201 102,848
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BEHX
SW-EFTEBREXECTERZER
B 4 BEEAABEHRER B % BEALEEREHR B 4 BEAABEHRER B % BEALEEREHR
] ES it E % 5t ] % 5t E £ it
REFEMH 1,980| 1,950 3,930 |FHET1TH 394 427 821 |[RHAT 445 429 874 | KFH i 121 124 245
AFAH 0 0 0 [FRET2 T H 640 662 1,302 | KRFERIE 706 659 1,365 | KFFE#IF 588 609 1,197
XH1TH 420 452 872 |FHAT3 T H 460 453 913 | KFER 693 665 1,358 | KFEA 480 476 956
XH2TH 420 440 860 |FHAT4 T B 611 616 1,227 | KFEEAR 411 379 790 | FE1TH 312 323 635
XH3TH 42 39 81 |FEETS T H 600 618 1,218 | KFHEAEHHA 219 192 411 | FB2TH 258 273 531
AA1TH 574 575 1,149 |BFSHT 416 418 834 | KFE T 533 512 1,045 |FBEA1TH 237 239 476
AA2TH 331 340 671 | B D HHT 688 684 1,372 | KEFHE 124 107 231 |fBEh2TH 127 152 279
AA3TH 494 514 1,008 |SESEfT 596 601 1,197 | KFE7 I 333 323 656 |FMEA3TH 749 1,024 1,773
A#4TH 365 381 746 |EET1TH 365 438 803 | KFE4HIEHMA 16 23 39 |ImEH4 T B 284 362 646
WE1TH 391 383 774 |E=B12TH 1,027 994 2,021 | KFEHE 243 231 474 |REA5TH 184 194 378
WE2TH 312 290 602 | XFEFLH 25 29 54 | KF& EHE 691 660 1,351 |REH1TH 249 248 497
HAR1TH 210 194 404 |BFFEE1TH 279 312 591 | KFH#& 135 110 245 |HEM2TH 126 141 267
HR2TH 445 461 906 |BEFFH2TH 300 329 629 | KFEE1R 225 191 416 |BREWRITH 227 236 463
FHA3TH 8 4 12 |FgFHITH 412 382 794 | K= XH 727 679 1,406 |EHEHA4TH 540 508 1,048
HR4TH 171 173 344 |FETFH4ATH 323 283 606 | KF#EF 527 465 992 |FREMSTH 372 337 709
WE1TH 440 448 888 |BFFH5TH 114 96 210 | K=F/NE 1,313 1,293 2,606 |HAEMIGTH 274 263 537
WE2TH 264 262 526 | KFER= 290 256 546 | K= H 853 849 1,702 |XEFE1TH 539 518 1,057
WE3TH 210 219 429 | KFKXHS 147 123 270 | KFREREF 849 836 1,685 |XEFE2TH 531 540 1,071
WE4TH 446 360 806 | KFHE 177 238 415 | K=t 270 279 549 |XEHEITH 320 313 633
WESTH 599 575 1,174 | KRFXO 161 173 334 | KF % 309 296 605
HAR1TH 699 708 1,407 | KFXAE 134 126 260 | L%1TH 437 434 871
HAR2TH 596 613 1,209 | KFKXF 248 233 481 | L%2TH 208 162 370
AR 656 590 1,246 | KFHAHEE 102 96 198 | LE¥3TH 86 62 148
FAEAE1TH 412 391 803 | KF K% 47 49 9 | L84 TH 7 10 17
FEEAE2TH 352 359 711 | K=FmE 54 58 112 | EL85TH 0 0 0
AE1TH 324 308 632 |[ME1TH 576 579 1,155 | F 6T H 197 189 386
AH2TH 412 426 838 |[ME2TH 321 343 664 | KFHY 5 231 280 511
ABISTH 282 303 585 |MNE3TH 36 25 61 |54 351 TH 12 5 17
AHBI4TH 417 453 870 |ME4TH 616 555 1171 [&47352TH 19 13 32
AHI5TH 297 308 605 |MNES5TH 513 474 987 | KFHEEHR 56 69 125
AE6TH 309 351 660 | X F1ER 210 203 43 | KFRERE 809 769 1,578
HET1TH 620 611 1,231 | KFHEEF 139 176 315 | KFREE 551 433 984
HET2TH 524 536 1,060 | K=F1AIF 367 333 700 [ K= 378 345 723
HE1TH 505 479 984 | KFEAR 542 543 1,085 | KF&E 523 518 1,041
HE2TH 358 352 710 | KEATF 71 56 127 [ K=FATE 720 739 1,459
- C ES i
= A 47,260 46,915 94175




